EANRAROBREIEHRT — 2 N—XBISYH —F 2018F6H21H (K) 5EIPI5I5H
7429 9Ch (hRJBE) 45R2% ESRE R
[A&4£] 17 :800,000  ~ 23%&:160,000  ~ 3 3#&:120,000 @ .~ 4 7 :80,000 @ .~ 5 7 :40,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i — 4 2 | BIEBEE 1:16.5 4-4 39.6| — 5 482 | #EIEF (dtimE)
1 o |4 St 54.0 (=) (-2) (B) £ 77— L4
Z:O—LiLFL4a BN ZXA-I HET7— L
s o2 | WARKEE 1:16.5 1-1 4.1 — 8 468 | AEER (ILiEE)
2|5|5|FLLBE> %53.0 F57) o |FEEE
7YX IR B:JYUFThOEY PNEFHES
S gy = # 2 | BREBXSE 1:17.2 8-8 39.8| — 1 434 | BHIEE] (dtiEdE)
3lglg|¥a—/fRFA b 54.0 @) (ta) | LEIEF
Lox4o Bo-Jr FEO%%E
S 53 4 2 | BHME 1:18.1 828 fn.3| — 4 444 | EERIESL (dtiEE)
4 6| 773I—-E>7Y 54.0 (4) (+12) | AR
L4 XSp ML BiXxECALLY AR 745
= 3 4 2 | ATEEME 1:18.1 5-5 s - 3 440 | NBEAN (bimE)
5 3| NVITARX 54.0 (2 E) 2) | W) MmMC =
La—LsFLan B:95F74 5 J=ZAH=F
D w K3 f o2 | RERH 1:18.5 7-8 N2l — 9 458 | BAF (dtimiE)
6l8l9|FT>¥&%Tv IR b 54.0 @) -4y | TBEZE
LNy v =l B: X714 —-TFENL Eld== I
Cx_z=. o2 | AllE 1:18.6 6-6 4“5 — 6 482 | RINF (LiEd)
7 y|\N—F—ZT7v 7T 54.0 (1/2) @ | B 7575 Tr—n
L:ZXgr T bt —Trp—K=F B:FLAH%x EREBEBE
o =t c e o2 | BBREZ 1:18.8 2-2 w02 — 7 426 | /N\ERT (tEE)
8l7|7| AE=T1—dv K 54.0 1 4a) | WO Nicks
R:Y=Z24—3I=224— B3 hyUTILA BNILB%ES
£ 2 | RHHEA 1:19.1 8-6 a7 — 2 496 | RHEREL (dtiEE)
9|11 |77 R - 54.0 (11/2) (-) | HEREEER
Rihxexy BFANT—Ny BEEHT Y FSv v - T7— L

@ 11— —EBIRfL

13—-7-

23—7F—

33—7— |5,7,6,2,3,4,9,(1,8)

43—+— |5,7,6,2,3,(1,4),(8,9)

[ F/N=5

B R 2 1,680M | | 74 K 2-5 1,600M | | # &= 2-5 10,780M | | 34 2-5-8 9,300M

BB 2 240M 2-8 510 | | BB & 2-5 8,290M3 | | & 2-5-8 89,680/
5 550/ 5-8 1,000 | | & & 2-5 26,950
8 150M

ABICOVWTRDTEEERROODE. TR LIV,




